Exercise # 6 – 2019 – Sample Answer (with notes)

IPIC PATENT AGENT TRAINING COURSE

DRAFTING & PROSECUTION

EXERCISE # 6 - DRAFTING

EYEGUARD
Your “Understanding of the invention” should begin with reading the letter from the inventor and viewing of the drawings.  Ask the following questions.

1) What does the inventor call his device? Ans. Eyeguard put that in your “invention column”

2) What components does it have: instrument-end member, eye-end member, diaphragm, etc.

3) What is the function of the eyeguard? In closed state the diaphragm protects the instrument from light entry and dust.  In open state allows use of the instrument. Pressure from the area surrounding the user’s eye on the rear portion disk causes the diaphragm to move from the closed state to the open state

4) Now look at the prior art one by one. put Y if it has the component. N if not and ~ if unsure

	Invention
	‘149
	‘359
	‘903
	‘242

	Eyeguard
	No lens shade/cover
	Yes
	Yes
	No lens cover

	a) instrument-end member
	Y 26
	Y
	Y  3
	Y

	b) first portion
	Y
	Y
	Y  4
	Y

	c) second portion
	Y
	~
	~
	N

	d) first flexible annular hinge
	Y
	N
	Y
	N

	e) eye-end member
	N
	Y
	Y
	N

	f) front portion
	N
	Y
	Y
	N

	g) second annular hinge
	N
	N
	N
	N

	h) diameter less than first annular hinge
	N
	N
	N
	N

	I) rear portion - disk
	N
	N
	Y
	N

	j) diaphragm closed and open states
	Y
	N shutter
	Y
	Y

	k) segments front joined to 1st annular hinge

l) rear joined to 2nd annular hinge
	Y

N
	N
	Y caution, diagram shows one flap, text says can be more

N
	N

N

	m) diaphragm biased to closed state
	Y
	N
	Y
	N


5) What novel features are in the invention?

second annular hinge

diameter less that first annular hinge

6) Do they relate to the funtion provided?  Yes, DO we need both limitations?  TO work properly, YES, but recall we are trying to have something that will work “at all”, so I would claim the second annual hinge in claim 1 and the fact that is of smaller diameter in Claim 2.  You could explain that you wanted the inventor to comment if it would work without the second limitation.  Now time to draft a claim.

7) Identify the elements needed to be an eyeguard and add the novel element

an eyeguard, a) instrument-end member, d) first flexible annular hinge, e) eye-end member, g) second annular hinge.  Arguably this is the minimum subset required

	EYE GUARD
	Keep the title simple

	FIELD OF THE INVENTION

The present application relates to eye guards and is particularly concerned with lens protection.
	Field should repeat the title and expand on it slightly.  DO NOT discuss specifics about the invention.


	BACKGROUND OF THE INVENTION

Lens protectors are known for use with optical devices such as cameras and binoculars. The use of eye cups or guards is also known for optical devices such as binoculars and telescopes.  Typically these functions are provided by separate devices, however U.S. Patent No. 4,630,903 teaches an eye guard that incorporates a movable flap for protecting a night vision scope from damage by exposure to bright light.
	Set the problem to be solved by the invention.  DO NOT disclose or suggest the solution provided by the invention, especially when discussing prior art.

If discussing prior art a) give a complete cite, b) refer to problems in specific prior art using ‘may’.

	SUMMARY OF THE INVENTION

An object of the present invention is to provide an improved eyeguard.

According to an aspect of the present invention there is provided <insert  Claim 1 here>

In an embodiment of the present invention…

Advantageously, the present invention provides for actuation of the diaphragm with a force consistant with normal use of an eyeguard.
	One simple object statement meets utility requirement without causing any harm, and a plain-language statement of the problems addressed by the invention and the manner in which the invention overcomes these problems is helpful.

Consistory clauses can merely mimic independent claims or be rewritten to be more readable.  For exam something of the form shown saves time and still earns marks

Support for intermediate claims can be added using devices such as “In an embodiment of the present invention”.

Use phrases like “Conveniently, the means for…”  

Advantages support nonobvious arguments AND earn marks on the exams.  Be careful to talk about benefits that are actually present in the consistory clause.  If it is in an embodiment then have the benefit follow the statement about the embodiment.

	BRIEF DESCRIPTION OF THE DRAWINGS

Fig. 1 shows in a perspective view an eyeguard in accordance with an embodiment of the present invention; (using Fig, 2a)

Fig. 2 shows a cross-section of the embodiment of Fig. 1;

Fig. 3 shows a perspective view of the eyeguard of Fig. 1 in an open state;

Fig. 4 shows a side elevation cross-sectional view of the embodiment of Fig. 1 in a closed sate; and 

Fig. 5 shows a side elevation cross-sectional view of the embodiment in Fig. 1 in an open state.
	Introduce the embodiment of Fig. 1, refer the other views back to Fig. 1.

	DETAILED DESCRIPTION


	Provide a top down description logical description of what the invention is then how it works.  Use reference characters to refer to figures.

	CLAIMS

What is claimed is:

1.  An eyeguard comprising:

 an instrument-end member; 

 a first flexible annular hinge coupled to the instrument-end member;

 an eye-end member; 

 a second annular hinge coupled to the eye-end member; and

 a segmented diaphragm having a first face connected to the first resilient hinge and a second face connected to the second resilient hinge and having  a closed position for protecting the lens and an open position for exposing the lens to the user’s eye when the eye-end member is in contact with the user.
	Independent

Claims are a single sentence, when read with the introduction “What is claimed is:”

Recite only essential elements.

Recite each element positively, not as part of another element.

Consider and independent claim for each category, apparatus method and product. Certain technologies have specialized types of claims, for example “Use claims” in place of methods of medical treatment.  Do not use “use claims” for other technologies as use is covered by “make , use and sell”



	Dependent claims

2. An eyeguard as claimed in claim 1 wherein the second annular hinge has a smaller diameter than the first annular hinge.

3. An eyeguard as claimed in claim 1 wherein the segmented diaphragm includes a bias toward the closed position.


	Recite further detail

ONLY put one limitation in per dependent claim UNLESS they are cooperative features that cannot stand alone;

	Note all the remaining features in the table can be used as dependent claim material
	

	ABSTRACT OF THE DISCLOSURE

An eyeguard includes a eye-end member for coupling a user’s eye to an optical device.  The eyeguard also includes a segmented diaphragm that has a closed position for protecting a lens of the optical device and an open position for use of the optical device. The eyeguard includes a resiliently flexible annular hinges coupled to the segmented diaphragm that responds to pressure from user contact to move the segmented diaphragm from the closed position to the open position. A particular embodiment is used with a rifle scope.
	The abstract should be specific and be to the disclosure as a whole.

Should not merely copy claim 1.  Avoid claim language such as means and said, run-on sentences etc.

Avoid words like “improved” Make the abstract readable, it is intended for searching and is not supposed to be used to limit the scope of the claims. Keep it brief, maximum 150 for PCT.


5

